18 “TRAC1-1P W%er.l198713R

28 CLY:0UTH

28 LETC11.1.32,2,8:LETC11].-1.1.8.8.8,8,-1.,1
d8d H=2:D=#3A0:vV=#9008: K=27:%¥=21

5@ LC@.,@a:?"RERDY":

B IFINKEYC)2=180RINC2&7?=70UT?:CLSELSEGOTOGH
7B LC15.,12:7"@"; :LCH.Y :?"Q",

168 aip

118 K=IMNKEY () :K=CK>=28ANIK<=312%(k-272: IF!KK=HELSEH=K
1268 IFK=1GO0OTOaL

128 IFK=2GO0TOaR

1d8 IFK=20RK=4GOTOQTT

288 alL

218 FORR=8BTO23:POKED+A.PEEKCH#I1IF+AX322 : NERT
228 SCROLLCK]

2238 FORA=BTO23:POKEY+A%32.PEEKC(D+A> :NEXT
208 H=k+1

258 GOTOdBA

268 aR

278 FORA=BTO23:POKED+A.PEEKC(YW+R¥322 :NEXT
288 SCROLLCLKI]

298 FORA=0TO23:POKE#91F+A%32,.PEEKCD+AY : NEXT
FEE H=hk-1

218 GOTOdEA

228 aTT

238 COPYD.,VW+C32¥232%0d-K>».,32
2d8 SCROLLCK]

258 COPYH#EBEB-C32%232%cd-kK>»,D.32
268 Y=Y+{d-K) ¥2-1

278 WRAIT:

dEaE OUTKE+2: IFPEEKC#AZFLCLIS,12:%"4%"; :LC1S,18:7?"LOSE" : RUN
di8 LC1S.412:7"@";
d28 OUTd.d

288 a2p

218 IF!INCA2GOTOS1A

228 E=IMC2&7

938 H=(H+[E+1B81+322%32

S2d8 Y=(Y¥Y+[E+1d41+2d>»%24d

258 IFSCROR.Y»:LCE.Y:?"F";:LCL153.,18:2"WIN" :RUN
268 POKEWV+A+Y332,#ES

278 IFIMCd>»GOTOSYBELSELEDL: EEEP:LEDA

GEE GOTOaiP

v )= DA —DfER

1P 2P
IN1 ouT1
IN2 ouUT2
IN3 ouT3
IN4 ouT4
GND GND
0UT1 IN1
ouT2 IN2
ouT3 IN3
ouT4 IN4
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26
28
d &
2H

7

168
118
128
128
1d8
158
168
178

208
218
224
2328
208

B8
218
228
238
a8
258

268
278
288
298
dB8e
did

28
ey
dda
458
d 68
ad7e

288
21A
a2A

GEA

“"TRAC1-2F Yer.l198713R

CLY:0UT#@
LET[i].'1.'3.’2.’E:LET[ii]J_i.'iJE.’E.’B.’E.’_iJi
H=1:D=#2A8 :¥=#9808: K=3:%=3
LCa.a:?"RERADY " ;

IFINKEY C2=180RINC2&7=T70UT7 :CLSELSEGOTOGHA
LCLS.,42:2"Q"; :LCR.NY 2" 8"

aip
IF!IINCA2GOTOL1A
E=IMNC227T
n=CE+[E+181+322K32

Y=CY+[E+1d1+2d2x24

IFSCRCKE Y2 :LCH. Y P R LCLS.,18:?"WIN" : RUN
POREW+R+Y¥22, #EQ

IFINCd»GOTOL7HELSELEDL : EEEFP:LEDG

az2p

K=IMNKEY () :K=C(K>=28ANDE<=312%CK-272: IF!KK=HELSEH=K

IFE=1G0TOaL
IFE=2G0TOaR
IFE=20RE=4GOTOQTT

aL

FORA=8TO2Z:POKED+RA. PEERKCH#O1IF+R* 322 : NEXT
SCROLLLCK]
FORA=8TO2Z:POKEY+R*32, PEEEKCD+RAY : NEXT
H=n+l

GOTOSEa

a R

FORA=8TO2Z:POKED+RA. PEEKCY+RA® 322 NEXT
SCROLLCK]
FORAR=BTO23:POKE#91F+RA%32. PEEKC(D+RAY : NEXT
n=n-1

GOTOSEA

aTT
COPYD.W+C323%23 2k cd-K, 32
SCROLLCLK]
COPY#EBEEB-C32%232%0d-K2,D, 32
Y=Y¥+id-Kirk2-1

WAIT:Z

OUTKE+&8: IFPEEKEC#ASF>LCAS ., 12:7"4";:LC15.,168:7"LOSE" : RUN

LE1S.,12:7"Q";
ouTd., 8

GOTOQl1pP
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